procedure Move( z, d : N);

local j: N;

begin
j = w"z]; wlj] = =i + d); 7lj + d] = z;
w7 z) =+ d; 7wl = g

end {of Move};

procedure Perm ( n : N);
locali: N;
begin
if n > N then Printlt
else '
Perm( n+1 );
fori:=1 ton-1 do
Move( n, dir[n] ); Perm(n+1);
dir[n] = —dir[n];
end {of Perm};

Algorithm 5.11: Recursive Paseal implementation of the SJT Algorithm.

procedure Next;
{Assumes that 7o = mpy1 =n+1.}
begin
m = n;
while 7[r~![m] + d[m]] > m do {Find largest mobile integer}
dlm] := —d[m}; m :=m - 1;
wla~1m]] :=: wln~}[m] + d[m]]; {update «}
7 Hn[n " m]]]) = 7~ m}; {update =1}
end {of Next};

Algorithm 5.12: Tterative Next implementation of the SJT algorithm (assumes my =

procedure Permute ( m : integer );
var i : integer;
. - -begin
S ) if m = 0 then Printlt;
B fori:=1 tom do
T =1 T
Permute( m — 1 );
T = Ty
end {of Permute};




